Math 3

Problem I: Solve: log (4x +1
Problem 2: Solve: log,(x +5) -

Problem 3: Solve: log, x +log (X +6) =
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1) =2

log,(2x —~1)=5

log (Sx +12)

Problem 4: Solve: log, x +log, (x~9) =2

Problem 5: Solve: In(6x

Problem 6: Solve: log,(3x —2) -

log,(dx +1) =2

Problem 7: Solve: log,(x” - 6x) =3

Problem 8: Solve: log(x -2)-log(2x —3) = log 2

Solve each logarithmic equation:

@ 10p:(4 - x) = logy(x + 8)
0&,»(21 +1)=
(1) logs(x +2) =

log,(15)

log;(3x - 5)

l(jg;z(,r 4 5) b 1
@ loga(2 + 3x) =0

@ tog,(17x —4) =3

logi(x +2) = log(55)

(Bl log.(x + 1) = logs(2x +

[ log;(x 4 3) =~

logy(5x -

B ogtc2) - 3
loga(2x + 1) =4
(@ logi(x - 1) =2
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